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What does the man (woman) mean (imply)?

What do we learn from the conversation?

What can be concluded from the conversation?

Example 1:

1.M: I've noticed that you get letters from Canada from time to time.

Would you mind saving the stamps for me? My sister collects them.
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W: My roommates already asked for them.

Q: What does the woman imply? (2000/1/3)
A) She will no longer get letters from Canada.

B) She can’t give the stamps to the man’s sister.

C) She will save the stamps for the man’s sister.

D) She has given the stamps to the man’s roommates
FEARHZFRERRET (XEHR)", BRRNERESR B KK
WY, #B.

Example 2:

M: I’ m looking for an apartment with the monthly rent of around 200

dollars in this neighbor hood. Can you give me some advise on that?
W: Well, it’ s rather hard to find anything for less than 300 dollars

around here. Rents are lower in suburbs, but you need transportation if

you choose to live there.

A) The man will probably have to find a roommate.

B) The man is unlikely to live in the suburbs.

C) The man will probably have to buy a car.

D) The man is unlikely to find exactly what he desires.  (2002/6/2)
AR FHEMEETF, *tMEER “EX/LFEARIESF
FB0RTHBFART ", S2BBE T RTEMBERNET,
ERD.

Example 3:

M: Do you want to turn on the air conditioner or open the window?

W: I love fresh air if you don’t mind.

Q: What can be inferred from the woman’s answer? (2001/6/8)

A) The air is heavily polluted.

B) The windows are already open.
C) She’d like to have the air conditioner on.

D) She likes to have the windows open.
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BARERH B, YREEFITHBAWHRT, k0.
Example 4:
W: It’ s awfully dark for four o’ clock. Do you think it’ s going to rain?

M: You’ d better do.something about that watch of yours. It must have
stopped hours ago. Mine says seven.
Q: What conclusion can we draw from this conversation?

A) Neither of their watches keeps good time.

B) The woman’ s watch stopped 3 hours ago.

C) The man’s watch goes too fast.

D) It’ s too dark for the woman to read her watch. (2002/6/7)
R MFEPTH, kL4 a8 ERRT, IXFELERTRT.
R T HBNRET 3N, EEB.

1. HUBRGFEE:

XA Y [a] B AEAE L) what, which, how, when, whoZ85E[RIa)$R 7],
HIE AT LA SRS PR3], B AU B A 75 HE R, (B B0 A 4
W AERER Y E, BE R R ATTI— R 5 ERE X,

Lo

Example 5:

W: Well, tonight, we have Professor Brown in the studio to talk about
his recent book, Fashion Images. Good evening, Professor.

M: Good evening, and thank you for inviting me here this evening.

Q: What is the woman doing?

A) Painting a picture. B) Hosting a program.

C) Designing a studio. D) Taking a photograph.  (2002/6/3)
FERE LA XBOA T studio” (RIEE, RIB=E, TEZ)“Good
evening, Professor”, {REF B X B studio 2 RE=, R, &+
EPEEHA. BEXB, EHF—IFHE.

Example 6:

EEEIEN 10
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M: What’s Mr. Peterson going to do with his old house on London Road,
rent it or sell it?

W: I heard he is_thinking of turning it into a restaurant, which isn’t
a bad idea because it’s still a solid building.

Q: What will Mr. Peterson do with his old house? (1999/6/8)
A) He may convert it and use it as a restaurant.
B) He may pull it down and build a new restaurant.
C) He may rent it out for use as a restaurant.
D) He may sell it to the owner of a restaurant.
Example 7:
W: The deadline for the sociology and computer courses is the day-
after-tomorrow.

M: But I haven’ t decided which course to take vet.

Q: What are the man and the woman talking about?

A) Registering for courses. B) Getting directions.

C) Buying a new computer. D) Studying sociology. (2002/6/1)
Ri¥: ZAEREEWEE BEEC ukeacourse (IEIR), RIS
L LPTEE, RIEBLME ‘ERRERAEER R, HE
PhZENELTIRERA. CADMBEANERLNNE
“computer” “sociology(}3t = %), E 5K NEAL X, BRETHIL.
Example 8:

W: During the last thunderstorm I noticed several leaks in my bed-

room ceiling and they really caused a mess.

M: Maybe you have some broken tiles. I have the phone number of a
good roofing company that could do a good repair job for you at a reason-
able price.

Q: What can we conclude from this conversation? (1998/6/4)
A) The roof of the woman'’s house needs to be repaired.

B) The roof of the man’s house has several bad leaks.
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C) The woman’s bathroom was badly damaged.

D) The man works for a roofing company.

Example 9:

M: The doctor said if I kept smoking, I would increase my chances of
having a heart attack.

W: Did he suggest reducing weight, too?

Q: What does the woman think the man should also do? (2001/6/2)
A) Quit smoking. B) Lose weight.

C) Have a talk with the doctor. D) Weigh himself frequently.
AABREBENIEARBH LT HIENAX, EE X reducing
weight, MEXTAT, EROUH—BTHR. REBMIEHR.
Example 10:

M: I' m both excited and nervous about the job interview this afternoon.
W: Take it easy. Just wear tidy and clean clothes and respond truthfully
to queries. Remember, honesty is the best policy.

Q: What do we learn about the man?

A) He is nervous about the exam.

B) He is looking for a job.

C) He doesn’ t dare to tell lies.

D) He doesn’ t know how to answer the questions. (2002/6/10)
AV ZAZEXEIR interview “EH”.

111, FX R B

B TR SUR BRI 8 B ) LBl BRI S4B 3 R AR A
FIERAE SRS

Example 11:

W: John, can you tell me what in the book interested you most?

M: Well, nothing specific. But I like it overall.

Q: What did the man think of the book? (2002/1/9)
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A)He enjoyed it as a whole. B) He didn’t think much of it.

C) He didn’t like it at all. D) He liked some parts of it.
1ZBEEE specific, overall WA R, BIEIE “HKH", FEE K
HiIEE, BEXRH, BIMEERR BEABRTARFNMN, R
FRERFEETU, HAIERER.

Example 12:

W: What'’ s the difference between a lesson and a lecture?

M: Well, they are both ways of importing knowledge. But the main

difference is that you participate in a lesson whereas you just listen to

alecture. A lecture is generally given to a much large group.

Q: What does the man mean?

A) A lesson requires students’ active involvement.

B) Students usually take an active part in a lecture.

C) More knowledge is covered in a lecture.

D) There is a larger group of people interested in lessons.  (2002/6/6)
AR AT M2 lesson F lecture B9 X F|, 57 but the main
difference is that you participate in a lesson whereas you just listen to
alecture, o] 4], lesson F{R&Z 5, lecture U %R: whereas &
M, Rz. ZBRA.

Example 13:

M: Have you run up against problems in getting your passport re-
newed?

W: I haven’ t started the plan yet.

Q : What do we know from the conversation?

A) The woman doesn’ t think it a problem to get her passport renewed.
B) The woman has difficulty renewing her passport.

C) The woman hasn’ t renewed her passport yet.

D) The woman’ s passport is still valid. (2002/6/4)
R ZBAEEFE get sth. done (f£--525L) HAE, XEB L
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T+ EF a3 FRET (get her passport renewed ) H3X HiB F| o),
T HEIEBERE FRT X HHER? EFBChrenew her pass-
port 22 %F get her passport renewed. FRERC.

Example 14:

M: I hope I won’t oversleep. I have simply got to catch the first flight to

New York.

W: If T were you, I’ d request the wakeup call from the Hotel reception.

Q: What does the woman advise the man to do? (2000/1/1)
A) To ask for a wake-up call. C) To go to bed early.

B) To catch a later flight. D) To cancel his trip.

Example 15:

A) A prediction of future of mankind.

B) A new drug that may benefit mankind.

C) An opportunity for a good job.

D) An unsuccessful experiment.

M: I must point out that trials of new medicines are expensive, and you
can never guarantee success.

W: But there is a very good chance in this case. I do hope people go
ahead and view of the potential benefit to mankind.

Q: What are the two speakers talking about?

RE HAIIREAFNARRDS RN, MBRTERIE—ERE
AIh." HriE medicines ZF drugs (25). #%EB.

Example 16:

M: My chemistry project is in trouble. My partner and I have totally
different ideas about how to proceed.

W: You should try to_meet each other half way.

Q: What does the woman suggest? (2000/1/5)
A) They should find a better lab for the project.
B) The man should meet his partner’s needs.

EZI 14




REZEAEERITAN H500E

C) They should come to a compromise.

D) The man should work with somebody else.

IV. BAIFEFXEB:

TEWT R 1P 2% A FIRAS R R IR R Mt s B R LB
AEE. G AR A i AU M S R e R E R BB S LR
REFE. 2, —BRBEIXEAR, & FRERREMES. LHE
FEIRLATILAEELIE . {0: Should it rain tomorrow, what should we
do? %) BHE T if.

Example 17:
M: To collect a data for my report, I need to talk to someone who knows
that small city very well. I was told that you lived there for quite a long time.

W: Oh, I wish I could help, but I was only a child then.

Q: What does the woman imply? (2001/6/5)
A) She would talk to the man later.

B) She’s never been to the city.

C) She doesn’t remember much about the city.

D) She would find someone else to help.

REZFAETHE—FIABITE [ wish Tcould help E R, MAIMTER
A, BRTRAZENES, MENFRE “FHX/N". &THE “F
HILEATNE", BuEC.

B -

(1) SHREFLHRYTE

G F4]
If + FiE + 4 ER would
F1& + should + FiA R
could
might
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